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Q.1 If each vowel in the word DIATECT is changed to the letter following it in the English alphabetical order and each consonant is
changed to the letter preceding it in the English alphabetical order and then the group of letters thus formed is arranged in English
alphabetical order, then which of the following letters will be third from the right?

Ans X1 F
X2 M
X3 F
4]
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Q3 The average of 7 consecutive numbers is 33. The greatest of these numbers is:

Ans X 1. 30
X2 28
v 5 36

X 4 33
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Q4

Ans

OLQN is related to URWT in a certain way based on the English alphabetical order. In the same way, LINK is related to
ROTQ. To which of the following options is IFKH related, following the same logic?

« 1. OLQN
X 2. LONQ
X 3. LOQN
X 4. OLNQ

Q.5

Ans

Which of the following numbers is divisible by all the natural numbers from 1 to 10 (both inclusive)?
X 11000
¥ 2. 2520
X 3. 504
< 4. 608

Q.6

Ans

A boy of weight 600 N climbs up a rope through a height of 10 m. He takes 20 s to accomplish this task. What is the power expended
by him?

« 1. 300 W
X2 200W
X3 100W
X4 150W

Q.7

Ans

In an electric circuit, the device that acts as a variable resistor is called
X 1. galvanometer
X 2. ammeter
X 3. voltmeter
+ 4. rheostat

Q.8

Ans

When sodium hydroxide reacts with water, which of the following products is/are formed?
A 1. Only Na™(aq) ions

X 2. Both Na™(aq) and Cly

X 3. Only OH (aq) ions

+ 4 Both Na™ (aq) and OH (aq) ions

Q.9

Ans

The volume of a cube of side 6xyz? is:
X 1. 26xyz?

X 2. 36xyzZ?

X 3. 2lex*yz?

4 216x%yiz®

Q.10

Ans

‘Which of the following quantities determine the rate of work performed by a machine?
A 1. Total force exerted
+ 2. Power

X 3. Rate of change of velocity

X 4. Total energy consumed
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QN

Ans

Which of the following is NOT part of India's 12 forts nominated for UNESCO World
Heritage under the title 'Maratha Military Landscapes of India’ for 2024-25?

75 1. Rajgad
/5 2. Raigad
«” 3. Karnala Fort
< 4. Salher

Q.12

Ans

Find the simple interest on 5,000 as a sum borrowed at 4% per year rate of interest for 5 years.
X 1. F800
X 2. 71,200

X 3. 1,300
4 Z1,000

Q.13

Ans

TRERAE G5 AT TLAT FI0T TAGES 22,000 2FC TG | TR (ATF AN (I 47T EEEE T O TeA
<FGF 10% T9 FACS A | TGS (I @F @ 77 7E FEEmm @b dofa Swimm g3 ofieem @ 29w 6w 15%
=T | e T Wit #9h (i (e & SEieEey

X 1. 32,500
X 2. 32,250
X 3. 22,300
& 4 32530

Q.14

Ans

In plants, after fertilisation the ovary develops into a

X 1. Seed
X 2. Flower

X 3. Seedling
+ 4 Fruit

Q.15

Ans

In which organelle of the plant cells does photosynthesis take place?
« 1. Chloroplast

A 2. Mitochondria

X 3. Nucleus

A 4. Ribosome

Q.16

Ans

A 9B BTCT 4 fATH TS M| B afB 20 AR FAT© AMCA| € 97 STZTTOIY ©OIFT 2
A Frafe I FF1 ¢ 9FT FG6 s 4te *mAE|

X 1.6
X 2.7
3.5
X 4.4

Q.17

Ans

Which of the following is the melting point of ice?

« 1. 27315 K
X2 373.15K
X3 200.15K
X4 300.15K
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Q18 Which of the following is NOT a unicellular organism?
Ans X 1. Paramecium
X 2. Bacteria
« 3. Fungi
X 4. Chlamydomonas
Q.19 Which of the following is obtained when dilute HCl is added to a beaker that contains copper oxide?
Ans 1. The blue-green colour of copper (II) chloride
X 2. The red colour of copper (II) chloride
X 3. The blue-green colour of copper (III) chloride
X 4. The colourless solution of copper (II) chloride
Q20 of5 Tew @riTe, 63 (@ (50 @ TEE WY [AE G5 W o A 20 B WHCE?
s K1 afs s e T
X2 «f5 (s AE
X3 aftte @@ Afaea @l T
v 4 &fs FETe Fre 7=
Q21 gelect the INCORRECT statement related to tropism.
Ans X 1. Chemotropism — movement towards chemical
+ 2. Phototropism — movement towards water
X 3. Hydrotropism — movement towards water
X 4. Geotropism — in response to the pull of earth or gravity
Q.22 The speed of a train is 90 km/h. What is the distance covered by it in 10 minutes?
Ans X 1. 13 km
A2 5km
« 3 15 km
X4 11 km
Q.23  Based on the English alphabetical order, three of the following four letter-cluster pairs are alike in a certain way and
thus form a group. Which pair does not belong to that group?
(Note: The odd one out is not based on the number of consonants/vowels or their position in the letter-cluster.)
Ans X 1. ZG-HQ
X2 TA-BK
X3 BI-JS
¢ 4 SW-FM
Q.24 which city succeeded in hosting India’s first-ever night street race in August 2023?
Ans «" 1. Chennai

5 2. Kolkata
25 3. Mumbai
75 4. Bengaluru
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Q.25 Anil Pradhan, co-founder of NGO Young Tinker Foundation, working towards education
in underserved areas, awarded with Rohini Nayyar Prize for Outstanding Contribution to
Rural Development in 2024, belongs to which of the following states?

Ans «" 1. Odisha
25 2. Assam

25 3. West Bengal
25 4. Arunachal Pradesh

Q.26 Which of the following statements is true for the appliances used in domestic circuits:

Ans X 1.
Heavy appliances like AC, Geyser are connected in parallel and light appliances like bulbs, tubelights are connected in series

x 2

Heavy appliances like AC, Gevser are connected in series and light appliances like bulbs, tubelights are connected in parallel

« 3. All the appliances are connected in parallel

X 4. All the appliances are connected in series

Q.27 The device used for measuring potential difference across the ends of a conductor is:

Ans X 1. Galvanometer

« 2. Voltmeter
X 3. Battery

< 4. Ammeter

Q.28 A body undergoes a displacement of 2m on application of a constant force of 10N: the work done will be:

Ans X107
X2 2]
X3 107
V4 207

Q29 The value of

3 2 1
44+ = -3=27
7 7 14

Ans 27

X1 ==

14
13
14

~ 2.

31
&3 —=
14

27
X4 —
14

Q.30 The correct relation between charge(Q) following through a conductor, time(t) for which the charge follows and the current (I)
following through the conductor is:

Ans X"-I:QEE
X2 I=Qt
X3 1=02%t

o 4 =2
t
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Q.31

Ans

Work has the same unit as that of
X< 1. force
2. energy

X 3. acceleration
< 4. momentum

Q.32

Ans

The curved surface area of a right circular cylinder is 616 em? and the area of its base is 38.5 cm® What is the volume (in cm’) of the

cylinder? (Use m= ? )
« 1. 1078
X 2. 1155
X 3. 1243
< 4. 1408

Q.33

Ans

All 37 people are standing in a row, facing north. Arihant is 14 from the right end while Chery is 21 from the left
end. How many people are there between Arihant and Chery?

X115
v2. 2
X33
X4 6

Q.34

Which state governor's Additional Secretary authored the book "Maa-Mother" which
was launched by Law and Justice Minister Arjun Ram Meghwal in November 20247

Ans «" 1. Kerala
25 2. Tamil Nadu
5 3. Maharashtra
75 4. Rajasthan
Q.35 949 of the population of a village is 22.560. The total population of the village is:
Ans 1 24,000
X 2. 25,640
X3 24,936
X 4. 32,256
Q.36  Ifthe radius of a sphere is reduced by 50%, then the new volume will become the original volume.
Ans X 1. 4 times
1.,.
/< 2. — 1lmes
4
1.,
o 3. E tumes
< 4. 8 times
Q.37 Which of the following statements is INCORRECT about the use of washing soda?
Ans

X 1. It is used for removing permanent hardness of water.

X 2. Sodium carbonate can be used as a cleaning agent for domestic purposes.

« 3. It is not used in the paper industry.

X 4. It is used in the manufacture of sodium compounds such as borax.
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Q.38 Which of the following budgets announced the release of 109 high-yielding and climate-
resilient varieties of 32 field and horticulture crops?
Ans X 1. Union Budget 2022-23
%" 2. Union Budget 2024-25
25 3. Union Budget 2021-22
25 4. Union Budget 2023-24
Q.39  If ‘A’ stands for *=’, *B’ stands for *>°, *C’ stands for “+’, and ‘D" stands for ‘—, then the resultant of which of the
following would be 80?
Ans X 1. ISD5A42B6C 17
X2 |SASB42C6D 17
X3 I8C5A42D6B 17
4 IEB5SC42A6D 17
Q.40  If *A’ stands for “+’, “B’ stands for *<°, *C’ stands for *+* and ‘D’ stands for ‘—*, what will come in place of the
question mark “?" in the following equation?
2B5DI2A4C6=?
Ans &1, 112
X2 111
X3 114
4 113
Q.41  Ina certain code language, “HANKY" is coded as ‘56428’ and *SNAKY" is coded as *48725°. What is the code for
‘H’ in the given code language?
Ans X 1.2
X2 4
736
X4 8
Q42 Which of the following statements regarding ionic compounds is INCORRECT?
Ans X 1. Tonic compounds have a high melting point.
« 2. Tonic compounds in solid state conduct electricity.
X 3. Tonic compounds are generally soluble in water.
X 4. Tonic compounds are solids.
Q43 Mechanical energy of a body includes
Ans

X 1. Kkinetic energy only

X 2. heat energy only

« 3. both potential energy and kinetic energy
X 4. potential energy only
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Q.44

Ans

Which of the following elements is most likely to form a negative ion (anion)?
X 1. Caleium (Ca)

X 2. Aluminium (Al)

+ 3. Chlorine (Cl)

X 4. Sodium (Na)

Q.45

Ans

A father’s age is seven times that of his son’s age. Three years from now, the age of the father will be five times that of his son’s age.
After how many years will their combined age be 62 years?

X 1. 6 years
& 2. 3 years
« 3. 7 years
X 4. 5 years

Q.46

Ans

Which of the following pairs is correct in terms of pH values?
(a) Tooth decay in humans: pH of mouth = 5.5
(b) pH range of human body: 7.0 to 7.8

(c) Acid rain: pH of rain water = 8
« 1. Only (b) is correct.

X 2. (a), (b) and (c) are correct.

X 3. Only (c) is correct.

X 4. Only (a) is correct.

Q.47
Ans

Surendra buys mangoes at the rate of 3 kg for 221 and sells them at 5 kg for 350. To earn 2102 as profit, he must sell:

X 1. 56 kg
2 34kg
X3 32kg
X4 26kg

Q.48

Ans

‘Which of the following diseases is/are a viral infection(s) transmitted through sexual contact?
a. HIV
b. Warts
c¢. Gonorrhoea
d. Syphilis

X 1. Onlya

X 2 Onlycandd

3 Onlyaandb

X 4 Onlyc
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Q.49

Ans

If ‘P stands for “>°, *Q’ stands for *+°, ‘R’ stands for ‘= and *S’ stands for *+, then the resultant of which of the following would be
757

X1 13S5S2P6P3R24R(44R2)
X2 13P5S2P6Q3S24R(44Q2)
X3 I3R5S2P6P3S24R(44P2)
v 4 13P5SR2P6P3S245(44Q2)

Q.50

Ans

Which of the following statements is/are correct regarding the liquid state of matter?
Statement I: Liquids have fixed volume but no fixed shape.

Statement II: The rate of diffusion of liquids is higher than that of solids.

A 1. Neither statement I nor II is correct.

X 2. Only statement II is correct.

+ 3. Both statements I and IT are correct.
X 4. Only statement I is correct.

Q.51

Ans

A alone can do a piece of work in 6 days and B alone in 8 days. A and B undertook to do it for 3,200. With the help of C, they
completed the work in 3 days. How much is to be paid to B?

X 1. 3800
2 21,200
X 3. %1400
X 4. 7600

Q.52

Ans

In some multicellular organisms, the body breaks up into smaller pieces upon maturation and each piece grows into a new organism.
What is this known as?

X 1. Sexual reproduction

X 2. Gamete formation
« 3. Fragmentation

X 4. Budding

Q.53

Ans

How does a plant move its leaves in response to touch?
X 1. By changing the amount of nucleic acid in them
X 2. By changing the amount of protein in them

X 3. By changing the amount of lipid in them

+ 4. By changing the amount of water in them

Q.54

Ans

Which of the following statements is/are correct regarding the Raigad Fort?

(1) It is part of the 12 forts nominated for UNESCO World Heritage under the title
“Maratha Military Landscapes of India” for 2024-25.

(2) It was the capital of the most illustrious Maratha sovereign, nurtured by Chhatrapati
Shivaji Mahara;j.

(3) Raigad, surrounded by valleys shaped by the Kal and Gandhari rivers, stands as an
isolated massif without connections to neighbouring hills.

25 1.0nly 1and 3
o 2.1,2and 3

25 3.0nly 2 and 3
25 4.0nly 1and 2
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Q.55

Ans

If64 :x::x: 169, and X = 0, find the value of x.

« 1. 104
X 2. 108
X3 112
X 4 06

Q.56

Ans

Which of the following is a pair of co-prime numbers?
X 1. 455,49

2 81,16

X 3. 363,77

X 4. 52,24

Q.57

Ans

In the following number-pairs, the second number is obtained by applying certain mathematical operations to the first number. Which
numbers should replace X and Y so that the pattern followed by the two numbers on the left side of :: is the same as that on the right
side of :: ?

(NOTE: Operations should be performed on the whole numbers, without breaking down the numbers into its constituent digits. E.g.
13 — Operations on 13 such as adding /subtracting /multiplying etc. to 13 can be performed. Breaking down 13 into | and 3 and then
performing mathematical operations on 1 and 3 is not allowed.)

X:id4::72:Y

X1 X=74Y=48
2 X=68,Y=46
X3 X=66.Y=32
X4 X=062,Y=34

Q.58

Ans

The action of chlorine on dry Ca(OH), produces which of the following?
X 1. Hydrochloric acid

X 2. Calcium chloride

+ 3. Bleaching powder

X 4. Calcium oxide

Q.59

Ans

Which of the following methods is NOT used for preventing iron from rusting?
X 1. Chrome plating

X 2. Painting

X 3. Galvanising

« 4. Heating

Ans

Q.60 Which organisation conducted the study on background radiation levels in Kerala?

" 1. Bhabha Atomic Research Centre (BARC)
< 2. Ministry of Environment

2% 3. Geological Survey of India (GSI)

#5 4. Indian Space Research Organisation (ISRO)
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Q.61 The force experienced by a current carrying conductor in a magnetic field is maximum when the angle between the direction of
current and the direction of magnetic field is
Ans X 1. 60°
¥ 2. 90°
X3 Q°
X 4. 45°
Q62 Tdentify the substance that gets reduced in the given equation:
nO+~C—2Zn+CO
Ans X1 0
X2 7Zn
3 Zno
X4 C
Q.63  Which of the following options should come in place of the question mark (?) in the given series based on the English
alphabetical order?
KNQ. LOR, MPS, NQT., ?
Ans 1. ORU
« 2. ROU
X 3. RUO
X 4. QOUR
Q.64  The marked price of an article is ¥100. If the article is sold at a discount of 25%, then the selling price of the article is:
Ans X 1. 280
X2 270
3. 275
X4 Z125
Q.65 Select the set in which the numbers are related in the same way as are the numbers of the following sets.
(NOTE: Operations should be performed on the whole numbers, without breaking down the numbers into its constituent digits. E.g.
13 — Operations on 13 such as adding /subtracting /multiplying etc. to 13 can be performed. Breaking down 13 into 1 and 3 and then
performing mathematical operations on 1 and 3 is not allowed.)
(105,35, 7)
(135.45,9)
Ans 1 (150, 50, 10)
X 2. (90, 25, 5)
X 3. (115,30, 6)
X 4. (120, 40, 12)
Q66 Which of the following is least reactive?
Ans X 1. Na
X2 K
X3 Ca
o 4 Mg
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Q.67 A sum of money doubles itself at a certain rate of compound interest in 12 years when the interest is compounded annually. In how
many more years will it become eight times of itself?

Ans 1. 24
X 2. 48
X3 12
X4 36

Q68  Select the INCORRECT pair related to digestive glands and their enzymes.
Ans 1 Salivary gland — trypsin
X 2. Liver — bile juice

X 3. Gastric gland — pepsin

X 4. Pancreas — pancreatic juice

Q.69 Kishore Jena became first javelin thrower from which state to represent India at the
finals of the World Athletics Championship?

Ans 25 1. West Bengal
" 2. Odisha
#5 3. Rajasthan
25 4. Karnataka

Q70 YWhich mirror has negative focal length?

Ans X' 1. Plane mirror

X 2. Both convex and concave
« 3. Concave
X 4. Convex

Q.71 In a certain code language, ‘FOLD’ is coded as ‘3579 and ‘RAIL’ is coded as *2456°. What is the code for ‘L’ in the
given code language?

Ans X1 6
X2 4
X3 7
4 5

Q.72 zwe Tl spe wae FEERE gew Tom e (I Fe g OF SeEn A, §9E FIE 9w A (20 TR w6 6E) |
@f=)s 4 6 3 4 1 7 9 5 4 8 1 5 2 3 1 7 17 43 9 6 9 45 1 4 7 (edws)

T TOETE (e WE uNE, WF 4fehn I 4 «wt g ume T i o3 e wE ey @ 1 40 o6 e
farafte =)

Ans  p1 5
X2 6
X33
x4 1

Q73 What is the simple form of protein?

Ans X' 1. Glucose
X 2. Glycerol
+ 3. Amino acid
X 4. Fatty acid
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Q.74  Which of the following options should come in place of the question mark (?) in the given series to make it logically
complete?
681, 607, 533, 459, 385.7
Ans X 1. 354
X 2 329
« 3 311
X 4. 345
Q.75 In November 2024, Centre for Development of Telematics (C-DOT) signed an agreement
with which Indian Institute of Technology (lIT) for development of ‘Millimeter Wave
Transceiver for 5G Rural Connectivity’, which aims to enable affordable broadband and
mobile services across India?
Ans 25 1. IIT Madras
< 2. IIT Delhi
" 3. lIT Roorkee
5 4. 1IT Bombay
Q.76 An amount is distributed among A, B and C in the ratio of 5: 7 : 15. If A's share is 21,500, then the total amount is:
Ans X 1. 25,400
X 2. 32,700
3 38,100
X 434,200
Q77 If PQRS is a thombus such that ZPRQ = 40°, then £PSQ is:
Ans X 1. 60°
2. 50°
X 3. 40°
X 4. 45°
Q.78  Study the given table and answer the question that follows.
The table shows the demand of different shoe sizes as obtained in a survey.
Shoe size Number of pairs demanded
5 44
6 48
7 58
8 46
9 39
10 37
Find the modal size of shoes demanded that one can obtain from the survey.
Ans X109
xX25
X3 6
w47
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Q.79

Ans

=W RHYMING *torg afefs @ygmad 3uafa ey omma ok e saast @l sfaafes zn 9=
eifefb #ead ey adfmey s o U o7 a «feafde 23, o a3end e aga ad-
ot e @ a4t gar gmage 2

X1 0

2 H

X3 1

X4 S

Q.80

Ans

Select the triad which follows the same pattern as that followed by the two triads given below. Both triads follow the
same pattern.

BEST - SBET - TSEB

ROLE -ILROE - ELOR

X 1. RATE - ARTE - EATR
X 2. WEST - WSET - TSEW
+ 5. DIVE - VDIE - EVID
A 4 TANG - NTAG - ANGT

Q.81

Ans

The sperms produced in the testes are transported via the

« 1. vas deferens
&< 2. Urethra
X 3. seminal vesicle

X 4. urinary bladder

Q.82

Ans

What is the reason for the formation of a bud in Hydra?
+ 1. Repeated cell division at one specific site

X 2. Overgrowth of the whole body

X 3. Cell cycle

A 4. Mutation

Q.83

Ans

Which of the following options should come in place of the question mark (?) in the given series based on the English

alphabetical order?
EHL, GIN, ILP, KNR, ?
« 1. MPT
X2 PTM
X 3. MTP
X 4 PMT

Q.84

Ans

Which of the following substances is NOT selectively reabsorbed as the urine flows along the tubules?
X 1. Glucose
A 2. Amino acids
« 3. Urea
X 4. Salts
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Q.85  Based on the English alphabetical order. three of the following four letter-clusters are alike in a certain way and thus
form a group. Which letter-cluster does not belong to that group?

(Note: The odd one out is not based on the number of consonants/vowels or their position in the letter-cluster.)

Ans x 1. MQL

X 2. EID
X 3. OSN
« 4 IMG

Q.86  Study the given graph and answer the question that follows.

The line graph shows the number of plants planted by a student during the week.

18 15 16
E 16
514 12 n 12 1
g 12 10
B 10
_‘;_" 8
= B
2
E 4
2 2
1]
Mon Tue Wed Thu Fri Sat Sun
Days

What is the ratio of the number of plants planted on Friday to the number of plants planted on Saturday?

Ans X' 1.1:9
X27:9
X3 2:5
¥4 6.5
Q87 YWhich of the following numbers is a perfect square?
Ans X1, 222
« 2 196
X3 124
X4 141
Q.88

50 + 50 cot®A

The value of ———M8M—
25+ 25tan A

Ans w1 2 cot?A

X2 1 cot?A
2

X3 2 tan?A

X4 ~tan?A

Q.89  Two resistors of 2Q each are connected in series to a battery of 4V. The current in Ampere flowing through the resistors will be:
Ans X1 1/2

2]

X3 4

x4 2
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Q.90

Ans

A person spent 2273 on buying a total of 50 packets of chips and biscuits. If the cost of each packet of chips is 6 and that of each
biscuit packet is 5, then how many more biscuit packets than chips packets did he buy?

X115
v2 4
X3 6
X4 3

Q.91

Ans

Charlie starts from point A and drives 5 km towards the South. He then takes two simultaneous right turns and drives
3 km and 2 km, respectively. He takes a final right turn and drives 3 km to reach point B. How far (shortest distance)
and towards which direction should he drive to reach Point A again? (All turns are 90 degrees turns only. unless
specified)

X 1. 2 km East

X 2. 3 km South
A 3. 2 km North
+ 4 3 km North

Q.92

Ans

D,E.F, G, L, Mand N are sitting around a circular table facing the centre. Only two people sit between F and L when counted from
the left of LN sits third to the left of M.G sits to the immediate right of M.G sits second to the left of F.E is not an immediate
neighbour of N. Who sits third to the right of D?

1. G
x 2.
X 3.
< 4.

S

Q.93
Ans

The sum of squares of two positive numbers is 145. If the square root of one of the numbers is 3, then find the other number.
X109
X2 136
w3 8
X 4 64

Q.94

Ans

___ @7 e fafen qatas 2R e Sevm 57|
X 1. REE=(Elongation)
& 2. SIAIIFAY (Differentiation)
25 3. oG O (Vegetative Propagation)
25 4. R[N (Germination)

Q.95

Ans

Which system has been inducted into the Indian Army's Corps of Army Air Defence to
enhance defence capabilities and technology absorption?

25 1. Prithvi Command and Control System
25 2. Agni Command System
#% 3. Varunastra Control Unit

w” 4. Akashteer Command and Control System



https://applink.adda247.com/d/XhqWf9lSap

Addai247

GET IT ON
Google Play

Q96 1 a certain code language,
‘P + Q" means ‘P is the daughter of Q°,
‘P— Q" means ‘P is the wife of Q°,
‘P x Q’ means ‘P is the son of Q" and
‘P + Q’ means * P is the husband of Q’.
How is Arelated to EIf A+ B-CxD+E"?
Ans X 1. Sister
X 2. Daughter’s daughter
X 3. Daughter
« 4. Son's daughter
Q.97 A.B,E,F, P.Qand R are sitting around a circular table facing the centre. A sits to the immediate left of E. Only three
people sit between E and Q when counted from the right of E. Only one person sits between B and P when counted
from the right of B. F sits to the immediate right of B. How many people sit between R and E when counted from the
left of R?
Ans X 1. One
X 2. Three
« 5 Four
X 4. Two
Q.98  Calculate the molecular mass of ammonia, NH;, using the provided atomic masses (Atomic mass of N =14 nand H= 1 u).
Ans X1 211
X2 10u
X3 421
4 17u
Q.99 The centre of curvature of a concave mirror lies the mirror, whereas it lies the mirror for a convex mirror.
Ans X 1. in front of: in front of
X 2. behind: behind
X 3. behind; in front of
« 4. in front of; behind
Q.100 Read the given statements and conclusions carefully. You have to take the given statements to be true even if they seem
to be at variance from commonly known facts and decide which conclusion(s) logically follow(s) from the given
statements.
Statements:
All planets are rocks.
All rocks are forests.
Conclusions:
(I) At least some rocks are planets.
(IT) All planets are forests.
Ans

# 1. Neither conclusion I nor II follows
X 2. Only conclusion IT follows

X 3. Only conclusion I follows

+ 4 Both conclusions I and II follow
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